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CED G6 ?6 D : 9 : ; Ẋt = 〈Ẋt , Ẏt〉B D > K 8 FD =6 ? @ 9 : ; BatterytB D > ?O 89 = ?< 9 F

Q 9 ? ? 8> @ = O 9 > W 8 F 8K 8 Fu

Z1

X1

X1tXX 0

X 0

1BatteryBattery 0

1BMeter

M D ? O CED G6 ?6 D : � 8K 6 ; 8 : = 8K 9 > 6 9 Q F 8 G Zt �9 : ; ? O 8 Q 9 ? ? 8> @ = O 9 > W 8 F 8K 8 F

� 8K 6 ; 8 : = 8K 9 > 6 9 Q F 8 BMetert �9 > 87 89 G< > 8 ; u

�© �� � �x y � 	{z �� � � � � � � |~} � � �� � � � � � � � � � � � � ��� � �� 
 � � � � � �



AB
��� � �� � �� 	 
 �
� �� � � � � � � � � � �� � � � � � � � � � � � � � � � � �� �� � �� � � �'

&

$

%

) � � �� $ �� �� � � � � 	 � �" * �

➤ 5 O 8 C> 8K 6 D < G9 F W D > 6 ?O7 G B D > 6 :B 8> 8 : = 8 6 : M 9 @ 8 G6 9 : : 8 ?N D >J G =9 : Q 8

9 C C F6 8 ; ?D ; @ :9 7 6 =M 9 @ 8 G6 9 : : 8 ?N D >J Gu

➤ �6K 8 : 9 G 8 �< 8 : = 8 D B D Q G 8>K 9 ?6 D : G � D : 8 =9 : / 3 	 � 1 1 9 LM V < : ?6 F ? O 8

: 8 ?N D >J 6 G F9 > W 8 8 :D < W O ?D 9 = =D 7 7 D ;9 ? 8 ? O 8 D Q G 8>K 9 ?6 D : Gu

➤ � : > D F F6 : W =9 : 9 F GD Q 8 ; D : 8 D : 9 G F6 = 8� Q @�� G F6 = 8 Q 9 G6 Gu

➤ A : ?O 8 W 8 : 8> 9 F =9 G 8 � ?O 8 =D 7 C F 8 P 6 ? @ D B > 89 GD :6 : W 6 G 8 P CED : 8 : ?6 9 Fu

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

Rain0

0.7

P(R  )0

Rain0

0.7

P(R  )0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

0.3f
0.7t

0.9t
0.2f

Rain1

Umbrella1

P(U  )1R1

P(R  )1R0

�© �� � �x y � 	{z �� � � � � � � |~} � � �� � � � � � � � � � � � � ��� � �� 
 � � � � � �



AB
��� � �� � �� 	 
 �
� �� � � � � � � � � � �� � � � � � � � � � � � � � � � � �� �� � �� � � �'

&

$

%

& � - - #  �

➤ � ; @ :9 7 6 = N D > F ; =9 : Q 8 O 9 : ; F 8 ; < G6 : W 9 G 8 ? D B > 9 : ; D 7 K 9 > 6 9 Q F 8 G

?D > 8 C> 8 G 8 : ? ? O 8 G ?9 ? 8 D B ?O 8 N D > F ; 9 ? 89 = O CED 6 : ? 6 : ?67 8u

➤S 8 C> 8 G 8 : ?9 ?6 D : G =9 : Q 8 ; 8 G6 W : 8 ; ?D G9 ?6 GB @ ? O 8 � �	 	 � � �	 � � 4	 0 
 �

GD ?O 9 ? ?O 8 B< ?< > 8 6 G 6 : ; 8 C 8 : ; 8 : ? D B ? O 8 C9 G ? W6K 8 : ?O 8 C> 8 G 8 : ?u

➤ q D 7 Q 6 : 8 ; N 6 ?O ? O 8 � 0� 02 �3 �	 2 0 
 9 G G< 7 C ?6 D :7 < = O G67 C F 8>

C> D Q 9 Q 6 F6 G ?6 =7 D ; 8 F G9 > 8 D Q ?9 6 : 8 ; u
➤ � ? 87 CED > 9 F C> D Q 9 Q 6 F6 ? @7 D ; 8 F =D : G6 G ? G D B 9 0	 � 3 �2 02 �3 � �� 4 1 9 : ;

9 � 43 � �	 � �� 4 1 u

�© �� � �x y � 	{z �� � � � � � � |~} � � �� � � � � � � � � � � � � ��� � �� 
 � � � � � �


